
IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM

Eight people are sitting in two parallel rows containing four people in each row, in such a 

way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are 

seated (but not necessarily in the same order) and all of them are facing North. In row-2 

E, F, G and H are seated (but not necessarily in the same order) and all of them are 

facing South. Therefore, in the given seating arrangement each member seated in a row 

faces another member of the other row. D faces the person who sits 2nd to the left of E. G 

doesn't face A who is an immediate neighbour of D. There is one person sits between G 

and H. B sits to the immediate right of the person who faces E.

आठ व्यक्ति दो समानाांतर पांक्तियों में प्रत्येक पांक्ति में चार लोगों की इस प्रकार बैठे हैं क्तक आसन्न व्यक्तियों के बीच 

समान दरूी ह।ै पांक्ति-1 में A, B, C और D बैठे हैं (लेक्तकन जरूरी नहीं क्तक इसी क्रम में हों) और उन सभी का मखु उत्तर 

की ओर ह।ै पांक्ति-2 में E, F, G और H बैठे हैं (लेक्तकन जरूरी नहीं क्तक इसी क्रम में हों) और उन सभी का मखु दक्तिण 

की ओर ह।ै इसक्तलए, दी गई बैठने की व्यवस्था में एक पांक्ति में बैठे प्रत्येक सदस्य का मखु दसूरी पांक्ति के क्तकसी अन्य

सदस्य की ओर ह।ै D का मखु उस व्यक्ति की ओर ह ैजो E के बायें स ेदसूरे स्थान पर बैठा ह।ै G का मखु A की ओर 

नहीं ह,ै जो D का क्तनकटतम पडोसी ह।ै G और H के मध्य एक व्यक्ति बैठा ह।ै B उस व्यक्ति के ठीक दायें बैठा ह ै

क्तजसका मखु E की ओर ह।ै 
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@ E K & Y R © C A M ® U N $ V Q # P % S I W * O T ɸ G Q75

If all consonants are replaced its next letter, then how many alphabets 

are repeated in the new arrangement? 

यक्तद सभी व्यांजनों को उसके अगले अिर से बदल क्तदया जाए, तो नई व्यवस्था में क्तकतने 

अिर दोहराए जाएांगे? 

(a) Four (b) One (c) Three (d) Two (e) None 
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@ E K & Y R © C A M ® U L $ V Q # P % S I W * O T ɸ G Q75

Which of the following element is 10th to the right of the 

element which is 18th from the right end?

क्तनम्नक्तलक्तखत में से कौन सा तत्व दायें छोर से 18वें तत्व के दायें से 10वाां ह?ै 

(a) # (b) P (c) % (d) S (e) None of these 
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M F J O L Q W E R T Y U P A H D G I N X Z C V B S K 

How many vowels are there in the given series which is immediately 

followed by a letter which comes after ‘M’ in alphabetical series? 

दी गई श्रांखला में ऐसे स्वर हैं क्तजनके ठीक बाद एक वणण आता ह ैजो वणणमाला क्रम में 'M' के

बाद आता ह?ै

1. None 2. One 3. Two 4. Three 5. More than four
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M F J O L Q W E R T Y U P A H D G I N X Z C V B S K 

Which of the following element is tenth to the left of the seventh 

from the right end? 

क्तनम्नक्तलक्तखत में से कौन सा तत्व दायें छोर से सातवें के बायें से दसवाां ह?ै

1. Q 2. T 3. G 4. X 5. Y
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M F J O L Q W E R T Y U P A H D G I N X Z C V B S K 

If all the vowels in the above arrangement are dropped then which of 

the following element is twelfth from the left end?

यक्तद उपरोि व्यवस्था में सभी स्वरों को हटा क्तदया जाए तो क्तनम्न में से कौन सा तत्व

बाएां छोर से बारहवाां ह?ै 

1. H 

2. G 

3. D 

4. P 

5. Y
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Each of the vowels in the word 

“OBLIQUE” is replaced by the 

previous letter and each consonant is 

replaced by next letter in alphabetical 

series. How many letters occur more 

than once in this newly formed word? 

1. None 

2. One 

3. Two

4. Three 

5. More than three

शब्द "OBLIQUE" में प्रत्येक स्वर को 

क्तपछले अिर से बदल क्तदया जाता ह ैऔर 

प्रत्येक व्यांजन को वणणमाला श्ररांखला में

अगले अिर से बदल क्तदया जाता ह।ै इस 

नवगक्तठत शब्द में क्तकतने अिर एक से 

अक्तिक बार आते हैं? 

1. कोई नहीं 

2. एक 

3. दो 

4. तीन 

5. तीन से अक्तिक
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Statements: 

A < Z ≥ P > Q < L ≤M < R = S

Conclusions: 

I. M > P 

II. L < S
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Statements: 

A = G ≤M > Z > X ≥ T 

Conclusion: 

I. Z > T 

II.Z = T 
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Statements: 

A < B = C > E ≥ D ≥ F 

Conclusions: 

I. E > F 

II. E = F 
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Statement: 

I ≤ J ≥ K > L ≥M = N < O 

Conclusions: 

I. O < J 

II. K ≥ N 
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In a certain code TOY is coded as 2 . How is HOT coded in that

code ?

एक क्तनक्तित कोड में TOY को 2 के रूप में कोक्तडत क्तकया गया है । उस कोड में

HOT को कैसे कोक्तडत क्तकया गया ह?ै

(A) 8 (B) 6

(C) 9 (D) 7

(E) None of these
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In a certain code VINIT is coded as 26 . How is HARSHIT coded

in that code ?

एक क्तनक्तित कोड में VINIT को 26 के रूप में कोक्तडत क्तकया गया है । उस कोड में

HARSHIT को कैसे कोक्तडत क्तकया गया ह?ै

(A) 43 (B) 49

(C) 48 (D) 41

(E) 55
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In a certain code HERO is coded as 54 . How MAN coded in that

code ?

एक क्तनक्तित कोड में HERO को 54 के रूप में कोक्तडत क्तकया गया है । उस कोड में

MAN को कैसे कोक्तडत क्तकया गया ह?ै

(A) 143 (B) 125

(C) 148 (D) 151

(E) 126
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Statements: 

I. Some fan is AC. 

II. Only a few AC is cooler. 

Conclusions: 

I. Some fan is cooler. 

II. No fan is cooler. 

कथन: 

कुछ पांख ेएसी हैं। 

केवल कुछ एसी कूलर हैं। 

क्तनष्कर्ण: 

कुछ पांख ेकूलर हैं। 

कोई पांखा कूलर नहीं ह।ै
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I. Some fan is AC. 
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Statements: 

I. Some gases are liquids 

II. Only a few gases are water 

Conclusions: 

I. Some gases are water 

II. Some gases are not water.

कथन: 

I. कुछ गैसें तरल हैं। 

II. केवल कुछ गैसें पानी हैं। 

क्तनष्कर्ण: 

I. कुछ गैसें पानी हैं । 

II. कुछ गैस पानी नहीं हैं।
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Statements:  

I. All Toy is Bottle. 

II. A little Toy are Machine. 

Conclusions: 

I. No Toy is Bottle. 

II. Some Machine are Bottle. 

कथन: 

सभी टॉय बॉटल हैं. 

थोडा क्तखलौना मशीन हैं। 

क्तनष्कर्ण: 

कोई क्तखलौना बोतल नहीं ह।ै 

कुछ मशीन बोतल हैं.
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Seven persons A, B, C, D, E, F and 

G are sitting around the circular 

table but not necessarily in same 

order. All are facing towards center. 

Two persons sit between F and G. 

G does not sit second to the left of 

D. D sits third to the right of C. B 

sits fourth to the right of A. E sits 

second to the right of A. D is 

immediate left of E. 

सात व्यक्ति A, B, C, D, E, F और G 

एक वरत्ताकार मेज के चारों ओर बैठे हैं 

लेक्तकन जरूरी नहीं क्तक इसी क्रम में हों। 

सभी कें द्र की ओर उन्मखु हैं। F और G के 

बीच दो व्यक्ति बैठे हैं। G, D के बायें से 

दसूरे स्थान पर नहीं बैठा ह।ै D, C के दायें

से तीसरे स्थान पर बैठा ह।ै B, A के दायें से

चौथे स्थान पर बैठा ह।ै E, A के दायें से 

दसूरे स्थान पर बैठा ह।ै 
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Seven people P, Q, R, S, T, U and V. All of 

them have their birthdays in different months 

namely January, March, April, May, June, 

July and August. No two persons share the 

same birthday month. P's birthday is in 

January. There are the same number of person 

having their birthday before and after R. Only 

one person's birthday is there between S and 

R. Q's birthday is in the month having 31 days 

but not in August. There are two person's 

birthday between Q and V. T's birthday is 

before U's birthday. Q's birthday is not before 

R

सात व्यक्ति P, Q, R, S, T, U और V हैं। इन सभी 

का जन्मक्तदन जनवरी, माचण, अपै्रल, मई, जनू, जलुाई 

और अगस्त जैसे क्तवक्तभन्न महीनों में ह।ै क्तकन्हीं भी दो

व्यक्तियों का जन्मक्तदन एक ही माह में नहीं होता ह।ै P

का जन्मक्तदन जनवरी में ह।ै R से पहले और बाद में 

जन्मक्तदन वाले व्यक्तियों की सांख्या समान ह।ै S और R 

के बीच केवल एक व्यक्ति का जन्मक्तदन ह।ै Q का 

जन्मक्तदन 31 क्तदनों वाले महीने में ह ैलेक्तकन अगस्त में 

नहीं ह।ै Q और V के बीच दो व्यक्तियों का जन्मक्तदन ह।ै 

T का जन्मक्तदन U के जन्मक्तदन से पहले ह।ै Q का 

जन्मक्तदन R से पहले नहीं आता है
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An uncertain number of person is sitting 

in a row facing towards North. Q is 

sitting second from on the extreme ends. 

S is sitting seventh to the right of M. L is 

sitting exactly in between Q and S. O is 

sitting third to the left of R. Only two 

people are sitting between Q and M. 

Only one person is sitting between S and 

O. P is sitting second to the left of N 

who is sitting fourth to the right of R. R 

is not an immediate neighbour of S. 

एक पांक्ति में अक्तनक्तित सांख्या में व्यक्ति उत्तर की 

ओर उन्मखु होकर बैठे हैं। Q अांक्ततम छोर से दसूरे 

स्थान पर बैठा ह।ै S, M के दायें से सातवें स्थान 

पर बैठा ह।ै L, Q और S के ठीक बीच में बैठा ह।ै

O, R के बायें से तीसरे स्थान पर बैठा ह।ै Q और 

M के बीच केवल दो व्यक्ति बैठे हैं। S और O के 

बीच केवल एक व्यक्ति बैठा ह।ै P, N के बायें से 

दसूरे स्थान पर बैठा ह ैजो R के दायें से चौथे स्थान 

पर बैठा ह।ै R, S का क्तनकटतम पडोसी नहीं ह।ै
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Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal 

distances between each other, but not necessarily in the same order. All 

of them are facing north direction. Two people sit between E and C. E 

sits at one of the extreme ends. A sits second to the right of C. B sits 

fourth to the left of F. F is not an immediate neighbor of C. H sits third 

to the left of D. D does not sit at extreme ends.

आठ क्तमत्र A, B, C, D, E, F, G और H एक पांक्ति में एक दसूरे के बीच समान दरूी के 

साथ बैठे हैं, लेक्तकन जरूरी नहीं क्तक इसी क्रम में हों। उन सभी का मखु उत्तर क्तदशा की ओर 

ह।ै E और C के बीच दो व्यक्ति बैठे हैं। E क्तकसी एक अांक्ततम छोर पर बैठा ह।ै A, C के दायें 

से दसूरे स्थान पर बैठा ह।ै B, F के बायें से चौथे स्थान पर बैठा ह।ै F, C का क्तनकटतम 

पडोसी नहीं ह।ै H, D के बायें से तीसरे स्थान पर बैठा ह।ै D अांक्ततम छोर पर नहीं बैठा ह।ै
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Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal distances 

between each other, but not necessarily in the same order. All of them are facing 

north direction. Two people sit between E and C. E sits at one of the extreme 

ends. A sits second to the right of C. B sits fourth to the left of F. F is not an 

immediate neighbor of C. H sits third to the left of D. D does not sit at extreme 

ends.
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Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.

P से V तक सात व्यक्ति एक बैठक 

कि में आते हैं। V, Q के ठीक 

पहले आया। R और S के बीच 

केवल तीन व्यक्ति आए। S, P के 

ठीक बाद आया। कोई भी P और 

Q के बीच ऐसा नहीं आया क्तक Q, 

P से पहले आए। केवल एक व्यक्ति 

R और T के बीच में आया।
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